U-HAUL TECH CTR. CUSTOM HITCH PROGRAM

HITCH INSTALLATION INSTRUCTIONS HITCH # 75934

VEHICLE: 1962-64 CHRYSLER 300 Pg.10of1
1960-61 CHRYSLER WINDSOR
1961-64 CHRYSLER NEWPORT
1963-64 CHRYSLER NEW YORKER

CLASS 3 (MAX. GROSS 5,000 LBS. / MAX. TONGUE 500 LBS.) 10/1/98

Aprox. Weight: 55 lbs.
Install Time: 0.8 hrs.

1. Raise hitch into position aligning rear most hole in frame with rear most hole in each hitch
bracket.

2. Being careful not to move hitch, drill a 2" hole up through the center hole in the hitch bracket
and into the frame.

3. Lower the hitch and enlarge the 2" and 4" existing (factory) hole from the rear in the bottom
of frame to 34"

4. Insert the 7/16” carriage bolts with a 3/16” X 1” X 2” reinforcing plate into the enlarged hole on
the inside of the frame and down into the holes that will align with the hitch brackets.

5. Raise hitch into position being careful not to push bolts back up into the frame.
6. Install a 7/16” conical washer and a 7/16” hex nut on each bolt.

7. Torque 7/16” fasteners to 50-ft. Ibs.

Give these instructions to your hitch customer.

HITCH MAINTENANCE

Inspect periodically to insure that fasteners remain tight, and that the hitch and vehicle structures
are intact and free of rust/corrosion or evidence of structural failure. If you have questions or
comments regarding this custom hitch, call the U-Haul Technical Center at 1-800-223-6218.

This product complies with safety specifications and requirements for connecting devices and
towing systems of the state of New York and V.E.S.C. regulation V-5.

QTy. DESCRIPTION OF HARDWARE
7/16” X 1 %" CARRIAGE BOLT

7/16” CONICAL WASHER

7/16” HEX NUT

3/16” x 1” x 2” REINFORCING PLATE

oloo|ol-




